# Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 4 Clackmannanshire South

3,694

4

739

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John Shier BIGGAM	Scottish Liberal Democrats	84
Chris DIXON	Scottish Conservative and Unionist	725
Kenneth EARLE	Scottish Labour Party	640
Ellen FORSON	Scottish National Party (SNP)	649
Craig HOLDEN	Scottish National Party (SNP)	831
Bryan QUINN	Scottish Green Party	560
Christine SINCLAIR	Scottish Labour Party	205
	Total	3,694

Candidate Craig HOLDEN Elected with 831 votes, being in excess of the quota of 739

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Craig HOLDEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Shier BIGGAM	3	0.11070	0.33210
Transfer to Chris DIXON	12	0.11070	1.32840
Transfer to Kenneth EARLE	37	0.11070	4.09590
Transfer to Ellen FORSON	614	0.11070	67.96980
Transfer to Craig HOLDEN	0	0.00000	0.00000
Transfer to Bryan QUINN	86	0.11070	9.52020
Transfer to Christine SINCLAIR	19	0.11070	2.10330
Value of non-transferable ballot papers			6.65030
	Total		92.00000

# Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of John Shier BIGGAM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris DIXON	1	0.11070	0.11070
Transfer to Chris DIXON	33	1.00000	33.00000
Transfer to Kenneth EARLE	16	1.00000	16.00000
Transfer to Ellen FORSON	1	0.11070	0.11070
Transfer to Ellen FORSON	4	1.00000	4.00000
Transfer to Craig HOLDEN	0	0.00000	0.00000
Transfer to Bryan QUINN	14	1.00000	14.00000
Transfer to Christine SINCLAIR	1	0.11070	0.11070
Transfer to Christine SINCLAIR	5	1.00000	5.00000
Value of non-transferable ballot papers			12.00000
	Total		84.33210

# Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Chris DIXON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Shier BIGGAM	0	0.00000	0.00000
Transfer to Chris DIXON	0	0.00000	0.00000
Transfer to Kenneth EARLE	2	0.00297	0.00594
Transfer to Kenneth EARLE	193	0.02691	5.19363
Transfer to Ellen FORSON	1	0.00297	0.00297
Transfer to Ellen FORSON	21	0.02691	0.56511
Transfer to Craig HOLDEN	0	0.00000	0.00000
Transfer to Bryan QUINN	1	0.00297	0.00297
Transfer to Bryan QUINN	132	0.02691	3.55212
Transfer to Christine SINCLAIR	1	0.00297	0.00297
Transfer to Christine SINCLAIR	74	0.02691	1.99134
Value of non-transferable ballot papers			9.12205
	Total		20.43910

# Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Christine SINCLAIR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Shier BIGGAM	0	0.00000	0.00000
Transfer to Chris DIXON	0	0.00000	0.00000
Transfer to Kenneth EARLE	38	0.02691	1.02258
Transfer to Kenneth EARLE	5	0.11070	0.55350
Transfer to Kenneth EARLE	151	1.00000	151.00000
Transfer to Ellen FORSON	4	0.11070	0.44280
Transfer to Ellen FORSON	8	1.00000	8.00000
Transfer to Craig HOLDEN	0	0.00000	0.00000
Transfer to Bryan QUINN	9	0.02691	0.24219
Transfer to Bryan QUINN	5	0.11070	0.55350
Transfer to Bryan QUINN	14	1.00000	14.00000
Value of non-transferable ballot papers			38.39374
	Total		214.20831

# Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Kenneth EARLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Shier BIGGAM	0	0.00000	0.00000
Transfer to Chris DIXON	0	0.00000	0.00000
Transfer to Kenneth EARLE	0	0.00000	0.00000
Transfer to Ellen FORSON	16	0.00259	0.04144
Transfer to Ellen FORSON	11	0.01067	0.11737
Transfer to Ellen FORSON	70	0.09643	6.75010
Transfer to Craig HOLDEN	0	0.00000	0.00000
Transfer to Bryan QUINN	38	0.00259	0.09842
Transfer to Bryan QUINN	14	0.01067	0.14938
Transfer to Bryan QUINN	199	0.09643	19.18957
Transfer to Christine SINCLAIR	0	0.00000	0.00000
Value of non-transferable ballot papers			52.52527
	Total		78.87155

# Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Bryan QUINN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Shier BIGGAM	0	0.00000	0.00000
Transfer to Chris DIXON	0	0.00000	0.00000
Transfer to Kenneth EARLE	0	0.00000	0.00000
Transfer to Ellen FORSON	25	0.00259	0.06475
Transfer to Ellen FORSON	1	0.00297	0.00297
Transfer to Ellen FORSON	4	0.01067	0.04268
Transfer to Ellen FORSON	19	0.02691	0.51129
Transfer to Ellen FORSON	57	0.09643	5.49651
Transfer to Ellen FORSON	46	0.11070	5.09220
Transfer to Ellen FORSON	252	1.00000	252.00000
Transfer to Craig HOLDEN	0	0.00000	0.00000
Transfer to Christine SINCLAIR	0	0.00000	0.00000
Value of non-transferable ballot papers			358.09795
	Total		621.30835